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Solve and show your work.
1 can think about making the next

ten! 49 is close to 50,50 fcan
break apart 24 to add 1 to 49.
Then, | 'add the rest, so

50 +23 =73

1. 49424 =_TF | 494+ 1 = 50

f% 50+ 23 = 73
1 23

2. 38+53=_191

1 can show each number with quick
tens 2nd ones. When [ look at the
ones, | can make another group of
ten with 1 leftover. Seo, | have = total

of 9tens and 1 one, or 91.
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3. 25+58=_83 SR+ 28 =78 h

f\ 78+ 5 = 83
26 5 f%

{ can start with 58 arid add 20.
To add 78 + 5, | can break apart
5 into 2 and 3. I's easy to solve
in my head because

L 3 78 + 2 = 80, and 3 moreis B3.
4. 67 + 1B=_85 ; o PFER
fx ix 60 + 10 =70 ~ | can break apart both numbers
: R T+ 8= 1l into tens and ones. laddtens
60 7 16 8 first and then ones. | can

70+ 15 = 85

combine them, so 70 + 15 = 85.

A

Adda pair of two-digit nuimbiérs when the dnes digits have & sum groeter
than 10 using decpmposition.
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